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Brief Infro to Sentiment Analysis

ESHIm:  REHE
£ ¥ EEm




U ES A

o B RIS AL
SBH KT B Z

¢ FERAEHR T HHER

. LAE

1
£ 3

&
I
%
fi
7
-_I]_IE
Iip
P
=
4
H




A FHYE R B

* MNRERTERETE, IMEE
HRXESF/AME, BRIK
IV B R, B—1!

+ RELEEAREERIIEZCNNEIERY, At
A EREER . VIEXNE. AR, X7

JE|S eyl




[ERED BT AR?

H i

B AT

2EFm v

oD BAEA4L [Jf# a%ue  cosm | 2008
Hzm iRt =271y (152 =i =5 .y —

Ak BEEE BER

AMERR | BEEAE EREE BERE | SEE=S

Ehea

HWIER M85 RINENS

EHHE . BEFE




BRI MTEIT 4

O -3\[7

] An --l/l’}fj\jﬁ

S 607

EEEE BrEzsEZE 60945 FEEEEER

EEtEs

4.8

ERERLAE (20) FIVRER (25)

FEHREFR (13) =R (11)

=4l =] A aEE

|
Fl

FEGAH

o 25 OB (17) O Bk (0)

BRIk, ResfE!

EFETEES 2o/ \370E  FLESEE  AIEEAE  mdEEells

sl et T T | T — —— hra P M v B e ] i BB AL T E =osr +L£ = —

B . FEEHiE  3TEIEEsTr maniEsE  BaeEe—EEe | 5 8EIrE
= w1 R s Fy i = o - Pt b= —T(v 4O P A S
ST TR, BSEE e EaThn A R | PRSI SEEHER

L T e O R e Iy

M Fo E1IT'E3JJ{;? T -’.-"~£'IE-3J__ A :__ }E

A (4)

EENEEF (20)

BiEE(14)

HE

==y

Fcn =

=

R

.l\\.[1 "

1081

AIM

.I':l |-1

: 175/¢

1085Eieix
: 175/964/M

H = 0|
: 181cm

tEafgy

FLNER
L
(3)

WYERsE  &EE v

GHRGG



ELEHSEE

THEAZR : 33672

SHET 208 MRS, TEsEFEEEEEE  BEFE
TRHNSERHE  SERER—E—Z5nST. BEERESEN
E ] | EEEEU. BeESETEdE  BaEiR . £=0%
ISR SmET.

™ OISR SlsA"
BRSEEIERRE S F

W EEE NGRS AR

- RS2

™ SEEIHIE

EOSY g
it
a8
BR
115

ik
=1

- Ffil

33

=]
=l
+

ra
(]

FO AT TENA A Eikis

LR :
it
28

e
B2

=1

bl
o i 14 M 28 35

BEREFEIEREETIRE
B MRS FEERNAEE



DN NI NI NN

RIEHTEE

ccﬁzlu\Tﬁnn
ccﬁzgin

11 ?\Z,b\%ﬁﬁ”
“?\Z*E N

Il_J\

MIEE

£QHE
WEMEEAR, BRIMmHE.

AN

:Ihx;
'l A

FEX 21:31
L 8= XET
v
ZiZERejoice V
REATHI# (B EATFREENEML Y E [HIEEK EEE

&) Fag %77(5 ERIER - 2RE | IEBFEAT TR ?
ll%

°§zmmm

+35=

ﬁ )

FHBHIeTSBFNIZ

\,‘_\ Ef,‘A




l

Z-scores

OpinionFinder day after=7

election

Thanksgiving -

VA S,
~—~" "\ ™
pre election
anxiety >
ALERT r\
~ N\ l\ A~ .VA__/\ I\ N/
~ N\ I\/\V V W AN
~J v v
SURE /\
election =
results
. —_—d N - AN
wASV T VT s ¥ e i O 4 "
VITAL pre! election
energn,.r
PPV A W A\ VN VAN I\ NN,
NN Y \V4 vV \VI"\-’ NS
KIND - -
A N MI\A A/\I\AA I~ N s
AW \I Vv /T"V Y V\ | \%
et
ey /\ Tranicavng > /\
/S -~ \A — = |\
\-‘\/"' ""\/ ¥ VN N —
Ocl 22 Oci 29 No:a' 05 Nr:rl‘wr 12 NOIV 19 NOIV 26




A4t i)

WA R HF "Rk R FRE:
~7 5|07 N7 Ni&E
T ihEEKREsEFHRLERNGDIE, FEEELSSHEK. e, MmoliLE
PERREE . FFA\A. (REREFEI TR EERERRE, YA AEKRERIE

mifEE K REEER . MENFEEE—REE T8~
¥BEEEHME | 2006-10-21

(B e BN OIS B Al

T1F . KREETE, SSlREETE! IRE—/ HEEFAIETE" NRERE, 7
LUREits R ! IS RET !
EEBEEMIE | 2005-08-26

EELAEW AT EE




[FR2HT, BXNHABEREFHNENESCARFEITH
e . JFRNFEERTIE

7l 2

— Sentiment analysis
— Opinion exfraction
— Opinion mining

— Sentiment mining

— Subjectivity analysis
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— BB RARMEFT 42 (51201 5%%)
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positive, if positve.,ynt > negtive ,ynt
negative, if positve ., nt < Negtive ount
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» 1EFIH % 3] (Model Learning/Training)
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&R 5> SRV T EX
- 157 B8 Y4 {E AV M EX (Feature Extraction)
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— 1m&21& 24 (Bag of Words)
— & EFr{F(Negation Features)
— (G R AN R fF {E(Lexicon Features)




B R% 73 SRRV AFAIE T EX

o
)
%
[ LS
ITk
T
—\=
| |+

FERY R BEX (Feature Extraction)
— 1A &t B (Bag of Words)
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« Word frequency: “1z:1845:2 4~:1 it:1 &:1”

« Word occurrence: “1Z:15%4:1 4~:1 nt:1 &:1”




B R% 73 SRRV AFAIE T EX

- 157 B8 Y4 {E AV M EX (Feature Extraction)

— & E4E1F(Negation Features)
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- 157 B8 Y4 {E AV M EX (Feature Extraction)

— [FREIAI SR 451 (Lexicon Features)
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© RIEFRALIE
— #3EE % (QUSER. URLE, B5TAX)
3 @M RATERDE RS E T http: //t.cn/RLCcvnC
— X A%H1iA (Java. Python. C%)
» LTP Cloud
hitps.//github.com/HIT-SCIR/Itp-cloud-api-tutorial

« Stanford Parser

http://nlp.stanford.edu/software/lex-
parser.shtml#Download

« PR IR RAICTCLAS. BIHXE ¥
* ANsj4r1a]. jiebadrial. PaodingAnalyzer. IKAnalyzer
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o X ZN18 LTP Cloud
— hittps://github.com/HIT-SCIR/Itp-cloud-api-tutorial

IString api_key = “"r'c-ur*ﬁ-.pil{ey";l
B String pattern = "all";
m C# String format = args[@];
[string text = Rl A o ";1

text = URLEncoder.encode{text, "utf-8");

URL url = new URL({"http://1ltpapi.voicecloud.cn/analysis/ "

B JavaScript + "api_key=" + api_key + "&"

+ "tewt=" + text + "&"
| Nodejs + "format=" + format + "&"

+ "pattern=" + pattern);
B PHFP URLConnection conn = url.openConnection();
B conn.connect();
B Python
_ BufferedReader innet = new BufferedReaderinew InputStreamReader(
=R conn.getInputstream(),
B Ruby "utf-8"));

String line;
while ({line = innet.readline())!= null) {
System.out.println{line);

1
J

innet.close();
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o X ZN18 LTP Cloud
— hittps://github.com/HIT-SCIR/Itp-cloud-api-tutorial

if __name__ == '__main__":
if len{sys.argv) < 2 or sys.argv[1l] not in ["xml™, "json", "conll"]:
print »» sys.stderr, "usage: ¥s [xml/jsonfconll]™ % sys.argv[@]

m C# sys.exit(1)

M Go uri base = "http://ltpapi.voicecloud.cnfanalysisy/ "
B api_key = "YourdpiKey"

Java text - REEEED

# Note that i1f your text contain spe

# you need to use urlencode to ence

5 Nod text = urllib.guote(text)
I No S format = sys.argv[l]
_- PHP pattern = "all™
_ url = {uri_base
wryon I e e
_- R + "text=" + text + "&"
+ "format=" + format + "&"
. + "pattern=" + "all")
B Ruby
try:

response = urllib2.urlopen{url)
content = response.read().strip()
print content

except urllib2 . HTTPError, e:
print »» sys.stderr, e.reason
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© XASA
— Zz4cJava 1.X. Eclipse 3.X (exp/enviroment-java/*)
— &~ {F14FS (exp/code-java-cws/LTP4Java.rar)
- S AREBFEclipserh
— SFAFAPI Key
— Run Code

LTP Cloud + Java

[EES =MEs EREME, SmERIER, e LAE2lapikey

String api_key = "HERE IS YOUR KEY";

/LIS ESITER, FERESEws(1E). pos(iFEiEiniE), ner(

String pattern = "ws";

/AR ELERERER, TEREEFEmIXMLUEER),

String fﬂrmat = "plain“;
/TR LR
String text = "BEIEFRET.

json(JSON:

EXEE

Email: lzkhit@163.com

Api_key: 31i8x0cEC JgGELSZvIhWuhaxtz
THREHEH: 312 bytes

I Ffl ik -

Cut Word Result: & Z 4t = *%[7 .

Index : 0, Word :
Index:1, Word : &
Index:2, Word: it =
Index : 3, Word : Z[]
Index : 4, Word : -
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. ositive, if positve > negtive
Polarlty = {p _ _ p _ count g ) count
negative, if positve,,ynt < negtive ount

- BTFHSRFEIWIER 2L (FIININB Sy 2E85)

cys = argmax P(ci | wi, w2 wi) = argmax Plc;) HP(WJ- c

c;eC c;eC .
1€ positions

| docs; | count(w, c) +1

P(w|c)=
| total # documents| count(c)+|V|

P(c;) =



R

— X YIS (cross validation)

» Flan Az X (5-fold)
» 4/SHEFHETE N Train
 1/SHEEIE NTest

* D RBUREFE

— /X (accuracy)

Accuracy =

P RIETRRIAEASH |

B |

Iteration

1 . Training

2

Tralnlng - Training

Training

Training

_
_
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MRS zKli (AT) ir.hit.edu.cn



